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And on a doubt of human urine next to animal urine

Overview
The mwn includes 191 27X 237 °» P90 as one of the NP0 "1 of XA for which we
burn 71170. There is a dispute between *"w2 and Md01N how to interpret this 7777A.
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''w9 explained that it is a double doubt.

MooIn asks on >"wA:
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And there is a difficulty for in 2>n13 n1ua Pz, the 7awn states® that we do not

burn %190 for these items because their 82 is in doubt -
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And the X3 challenges this ruling; ‘but I will ask, we learnt in another mwn,’

for six ny?°o® we burn, etc. 7170, Why by 2°m> n112 we do not burn poon, but by the
mp*o0 we burn poon -
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And the *wX 727w 27 answered that the ;72w there by 2°nd is discussing where

there is a XPo0 Po° and therefore we do not burn the 7m0, This concludes the

citation from that X723. M50 continues with his question -
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But according to >'"'wap in the case of 278 731 "% poo we burn 727N, even
though that it is a X350 ppo?!

mooIn offers his interpretation:
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"1 poo 71"72. The case according to >"wA is that we know for sure that there is 7772 *37 2 here. Next to the 937 "
mnn3 there are other 2737 " which we are uncertain whether they are 7nm2 *237 *n (so they cannot be &nv) or 731
o7& (where it is possible that they are ¥nv). Therefore we have a Xp°o0 poo perhaps the doubtful 0°231 " are also
nma °930 (so there is no nXMY possible) and even if they are 07X *737 *n it is possible that it is from an 77w DX, but
even though there is a 1707 RXp*50 P, nevertheless the o°on were 1A that 107 DR P2 if it came in contact with
these 0°737 .
2 The mwn on 3,8 states that the 0’m> are Xnv because there are nNI71 *2¥13; nevertheless we would not burn 770,
which a °M> comes in contact with, because their %m0 is PoonN.
? This is the same 73wn we are discussing here in our X3,
* The 0"0 there is where a >m> was 210 and treaded on a1 732, and the 72r >732 touched the N, W'y,
> Just as there is a 0"0 by 2>m> there is a 0"0 by 27X *231 "1 as well; the s'x73 question there was not answered. See
‘Thinking it over’.
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And it seems to the 3''2 that the 71w» mentioned 731772 939 (not like >"wA that this

makes a Ppo whether the others are 07X °731 °n), but on the contrary -
S9N 7POD XIN KDY *DIN YW 1Y 290 1119993 10 AT YN AT JIVST DIVUN

Since, when the 7772 %37 "m 07X %30 "n are next to each other, it is more

recognizable that the others are from a person, so there is only one 229, whether
that person was 7170 or Xnv.

Summary
According to >"w" the case of 121931 °n is a 0"0, however according to '0n there is

only one P50 since the contrast to 7272 °937 "1 assures us that it is 7R *9a7 .

Thinking it over
Perhaps (in order to explain *"7) we can distinguish between N?°90 P90, for here

by the o°31 » there is only one P50, whether the 0237 °» are ¥1v or not, however
by the *m> the two mp 0 are of a different® order?’

® The case according to '0n is that there is 71772 °231 *» here, which assures us that the others are 07X *937 "1, so there
is only one poo. It would seem that if there would be just and o731 "»; we are not sure whether it is from 27X or
7n73, it would be also a 0"0 and 73170 QPYY PO PR.

" However in s""wA case, we would not be 7m11n A7 according to MO, since it is a 8"D.

¥ One poo is if he was 2312 her recently or nor; the other whether she was actually a 773 or not. These two Mp*90 are
not connected to each other.

? See " Hw naw.
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